15.6. A cerlain transverse wave is described by

X !
y(,r, t) = (650 mm ) cos 27 R ——
280cm  0.0360s

Determine the wave’s (a) amplitude; (b) wavelength: (¢) ftre-
quency; (d) speed of propagation; (e) direction of propagation.

!

15.8. A water wave traveling mnoa straight line on a lake 1s

described by the equation
v(x 1) = (375cm)cos(0450em ™ v - 5405 ')

where y is the displacement perpendicular to the undisturbed sur-
face of the lake. (a) How much tme does it take for one complete
wave pattern to go past a fisherman in a boat at anchor, and what
horizontal distance does the wave crest travel in that nme?
(b) What are the wave number and the number of waves per sec-
ond that pass the isherman? (¢) How fast does o wave crest travel
past the fisherman, and what 1s the maximum speed ol his cork
fleater as the wave causes it to bob up and down?
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